
   

       

     

 

A B C D

E F G H

I J    

x5

K    1

2 3 4 5

6

Installation steps Instructions

Parts inspection

MODEL:7028
Edition:2022092901Z

M6*18  X10

1. 1 2

F

K

2.

J

G

E

3. 1

3

D

4 1

4

D
C

C

. 5.

1

6

D

I

6.

7.

15

A

I

8.

H

9.

Transfer the weight from the 
chair and lift up the right handle. 

Rocking function can be adjusted 
to 10°in 2nd gear and 15°in 3rd 
gear.Take care to slowly adjust 
the angle you need. 

1

The armrest can be adjusted 
up and down.

1

The Lumbar backrest can 
be adjusted up and down.

The Lumbar backrest 
can be adjusted forward 
and backward. 

M6*20  X4 M6*30  X6 M6*30  X2

M8*40  X3

Every Blue Whale customer is our important family, if you encounter 
any trouble during the installation and use of the process, please 
feel free to contact us.

We sincerely hope this office chair can bring you a unique and 
comfortable experience.

Email address: service@bluewhale.ltd


